This month we look at responder’s
second bid when opener has rebid INT
or 2NT.

Let’s start after opener’s INT rebid,
so the auction has gone one of a suit -
one of a suit — INT. Opener has shown
12-14 balanced.

After1¢-14;INT

In this case, opener could have one
(or both) four-card major(s). In mod-
ern bidding, he wouldn’t show a major
unless he had a shapely hand. Itis up to
responder to show a four-card major.
When the response is 1 ¢ (natural),
it means that either responder has
no four-card major, or he was strong
enough (opening-bid values) to show it
on the second round. So with:

AAG654 ¥2 AKJI103 AJ8Y7,

the response to 1éb is 1 ¢, but after the
INT rebid, responder would bid 2 .
Ifthe 1 ¢ bidder has no four-card
major (usually the case), he has the fol-
lowing choices:
Pass: With a flattish hand and no
game interest. For example:

AK2 V9765 €KJ876 &Q32.
2 A desire to play in 2 e, some-
thing like:

AL VY876 €K10872 A764.

2 ¢ : A signoff with six-plus dia-
monds, something like:

AL13 VA2 €QJ10876 eJ32.

2V /2 A: As mentioned above, this
shows four cards, good diamonds and
opening bid strength, so it’s game forc-
ing.
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2NT: Invitational, usually balanced,
roughly:

AKJ VY654 ¢KQJ87 #J107

3e%/3 ¢ : Alittle more than 2% or
2 ¢ (invitational). Examples, respec-
tively:

A— VA32 $KQ1032 J10762
A2 VA32 €AJ98732 43

3¥ /3 A :Don’t make such a bid.
3NT: To play. This is a100% closeout
bid. Example:

A532 ¥432 €AKQ102 A3

After 1 of aminor-1ofamajor; INT

Warning: This could take some study
and memorizing. It can’t just be read
once and understood. Sigh.

The number of cards responder has
in the major is crucial. With only four,
responder can abandon any thoughts
of playing in that major; opener would
have raised with four, or showed
spades after a1¥ response. With six
or more cards, responder will want to
insist on playing in his major; opener
has atleast two, so there is at least an
eight-card fit. It is with five cards that
responder’s life is difficult. Opener
could have three, and there could be a
5-3 fit. Unfortunately, though, repeat-
ing the major typically shows six cards.
Without a convention (called new-
minor forcing), there are problems. A
one-sentence summary of the conven-
tion is that if responder bids the minor
that wasn’t opened, it is like Stayman,
but looking for three-card support. For
example, 1 ® -1M&; INT-2 e says noth-

ing about clubs but is looking for three-
card support of the major. Without that
convention, responder’s second bid
would have to be something like this:

2 of opener’s minor: Natural, weak,
to play. For example, 14 -19;
INT-2 ¢ with:

A2 VKJ32 Q10762 #J32.

2 of the other minor: Natural and
forcing. For example, 1l -1 ;
INT-2 ¢ with:

AAQ1032 ¥4 €AQT76 832

2 of responder’s major: To play
(a signoff). For example, 1¢-1¥;
INT-2 9 with:

AG ¥YQJ10972 GAJ87 43
orl®-1M;INT-2M with:
AKQ1098 ¥3 4#Q43 &10876.

True, there are only five spades and
maybe a 5-2 fit, but 2 M is probably
better than INT.

2 of the other major: If hearts
followed by spades, then natural and
forcing. If spades followed by hearts,
then natural and not forcing.

2NT/3NT: As above after 1eéo—14;
INT. For example, 14 -1¥; INT-2NT
with:

A76 YVAQS87 €QJ8 K543,
orl19 -1M;1INT-3NT with:
AQ876 VYQ6B5 €AK42 &Q3.

Jump to three of an already bid
suit: Invitational, six-plus cards. For
example,1® -1M&; INT-3 M with:

AKJO762 YAGB5 4€Q102 &2,
>
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orlede-1¥;INT-3¥ with:

AA32 YVKQ10876 €J32 &2

Opener’s 2NT rebid

Opener has shown 18-19 balanced.
With a terrible hand (like 5 or abad 6
points), responder can pass. Other pos-
sibilities:

3e%/3 ¢ : Natural and forcing. If
using the aforementioned new-minor
forcing, then three of the minor that
wasn’t opened would be artificial and
Stayman-like, typically looking for
three-card support in responder’s
major. For example 1¢f-19¥; 2NT-3 ¢
would be artificial and looking for
three-card heart support.
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Repeating a major: Natural and
forcing, typically six-plus cards.

3NT: To play, an absolute signoff.

4 &%: Gerber. This should be used only
if responder is specifically interested
in the exact number of aces opener
holds. This is unlikely to ever come up.

4 ¢ : Don’t make this bid.

49 /4 M:To play. When responder
jumps to the four level in the major he
initially bid, it shows at least six cards
in the suit, no slam interest.

4NT: Quantitative/invitational to
slam. For example, 1ee-1 ¢ ; 2NT-4NT
with:

AAQS5 YKQ4 €QJ92 &1076.
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What is responder’s rebid after
lee-149;1NT with:

1. AAKQ2 ¥2 ¢AKQ103 ¢#J32
2.MA2 VAQ2 6108765 432

What is responder’s rebid after
14 -1M; INT with:

3. AMAAQ76 WAJ2 €J5 #9532

4. M7 YVKQB876 #32 #Q8765

5. 8Q10876 WAJ542 €3 32
6.4J10875 YVAQ2 A2 HAJ2

What is responder’s rebid after
1 -1M; 2NT with:

7. MKJB876 ¥2 €AQ32 M432

8. A54 ¥JB765 €KJ2 432

2 & . Natural and forcing.

2. Pass. High enough. Opposite 12-14
HCP, where are we going?

3. 2NT.Invitational. No need to insist
on game because opener could have
aflat12.

4. 29 .Itmightbe a5-2 fit, but still
preferable to INT.

5. 29.146-1M;1NT-2V isnatural
and not forcing.

6. 3NT. Even opposite a maximum
(14), slam is unlikely. If using new-
minor forcing, you could look for a
5-3 spade fit.

7. 3@ .Natural and game forcing.
Opener will show three-card spade
support if he has it. If playing
new-minor forcing, this wouldn’t
promise diamonds.

8. Pass. High enough. Yes, you might
miss a 5-3 heart fit.



